
Year 7 Homework Set 6 

Copy out and answer the following questions. 
   

             1 
 40 + 12 = 

 
13 

 25 - 6 = 

             2 
 26 + 12 = 
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 38 - 6 = 

             3 
 46 + 6 = 
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 49 - 8 = 

             4 
 50 + 3 = 
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 41 - 11 = 

             5 
 37 + 6 = 

 
17 

 29 - 7 = 

             6 
 34 + 4 = 
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 24 - 5 = 

             7 
 27 + 3 = 

 
19 

 29 - 6 = 

             8 
 47 + 9 = 
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 21 - 10 = 

             9 
 26 + 3 = 
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 23 - 11 = 

             10 
 30 + 12 = 
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 38 - 10 = 

             11 
 45 + 11 = 
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 24 - 9 = 

             12 
 42 + 12 = 
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 21 - 9 = 
 


